EGY ELECTRONICS | INSTALLATION GUIDE

ECGY BRIGHTMOUNT

FIXED ANGLE GROUND MOUNT SYSTEM

PARTS DIARGRAM

Rack Rail
(ALBD05-T5)

Mid clamp
(AL6005-T5)

End clamp
(AL6005-T5)

T
-
Mount Group Earth lug Group Grounding clip
(AL6005-T5) (AL6005-T5) (ss304)
Bt i

Expansion screw
M10*100
(ss304)

L foot group
(AL6005-T5)

Splice connector &
bonding
jumper
(AL6005-T5)

www.eg4electronics.com
support@eg4electronics.com
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice.




EGY ELECTRONICS | INSTALLATION GUIDE

1 DIMENSIONS AND LAYOUT

180.3 in. (458 cm)

y

44 in. (111.8 cm)
A Max. Panel Width

47.5 in. (120.7 cm)
48 in. (121.9 cm)
Min. Panel Height

=
=

Ground Level £F } f [ |
%o = 1 51.2 in. (130 cm)
"ty 8 5
Fy n
2 g
o 5
19.7 in. .
L"_(EO c::: )_-J l—nf(15907‘:"_:)4—-l
(@ Rack Rail @ Mid clamp
(AL6005-T5) (AL6005-T5)
@ End clamp =
(AL6005-T5) ' g
(®Earth lug Group

(AL6005-T5)

(@ Mount Group
(AL6005-T5) \

@ Expansion screw L Foot Group
M10*100 (AL6005-T5) (© Splice connector & Bonding
(SS304) Jumper (AL6005-T5)

www.eg4electronics.com
support@eg4electronics.com 2
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice.



EGY ELECTRONICS | INSTALLATION GUIDE

Tools needed:

<

o

INSTALLATION

185
A -

/‘\

G
Glove Drill Adjustable Tape Drill bit Allen wrench set
wrench measure 12.5 mm

A) Install leg group
Using a M8*80 bolt, M8
washers, M8 nut; install the
U45 connector as shown to

the right.

i

DIN912 M8*65 Bolt Group‘

Py
DIN912 M8*65 Bolt Group

DIN912 M8#80 Bolt Group

B) Install mounting
bracket

using M8*65 bolts, M8
washers and M8 nuts to
connect the legs to the
mounting bracket as
shown to the left.

www.eg4electronics.com
support@eg4electronics.com
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice.



EGY ELECTRONICS | INSTALLATION GUIDE

INSTALLATION CONT.

C) Install "L" foot
M8*65 bolt, M8 washers, and M8
nut to install the "L" foot.

ﬂ E)INQ‘IZ M8*80 Bolt

e=—=——T""
19.7 in. 19.7 in. 19.7 in. 19.7 in.
(50 cm) (50 cm) (50 cm) (50 cm)
|- - 1 |~ R
|
cE £E cE £E D) Connect the
N N N .
; 2 m ; o A '; o !!%i.] ; o !!‘E}i] mountmg bracket to
- - - -
A concrete anchor.

51.2in. (130 cm) 51.2in.(130cm) | 51.2in. (130 cm)

T

19.7 in. (50 cm)

7.2in. , 53in., 7.21n. \ Drill bit: 12mm
(18.3 cm)|(13.5cm)(18.3 cm) \

el &6 \\
O 2 3 Expansion screw \
o o
AR S e [HEe \
< owls e :
c = £ Fix feet

4= <
~ £[E ~N b
[e)) o 4.1 in.
— N2 (10.3 cm)

Detail of A

Use the expansion screws when
mounting.

www.eg4electronics.com
support@eg4electronics.com 4
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice.



EGY ELECTRONICS | INSTALLATION GUIDE

INSTALLATION CONT.

T
|
Skg
T ‘J-.
o i

] o Circular grounding
shim in the middle E) Follow these images for rail installation.
P
©°°°g
I %
lo O o |
Soon®
o} ° o
95500

F) Connect the frames together using junction brackets, and M8 allen bolts.

Completed cunstruction.

www.eg4electronics.com
support@eg4electronics.com 5
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice.



EGY ELECTRONICS | INSTALLATION GUIDE

PV ATTACHMENT

G) Install PV modules using
the End & Mid clamps.

H) Install earth lug on the end
of the rails.

www.eg4electronics.com
support@eg4electronics.com 6
Sulphur Springs, TX

Dec 2022 | Ver 1.1.0 | Specifications subject to change without notice





